Reference: EXAM / JPP / BITIC / DEOGHAR / BE-CS-NONCOLLEGIATE / MO/20/ 2019-2020

By the order of Examination committee, the following is the result of BE-CS - NONCOLLEGIATE Semester held in the month of OCT-2020

Date :

SESSION	: 2019-2020 CLASS : BE-	CS		BR	ANCH :	ENGINE	ERING					SE	MESTER	/ TRIMES	STER :	NONCOLI	EGIATE			MONTH OF E	XAM : O	CT-2020
ROLL NO	NAME	U L		201(4)	CS61	107(3)	CS80	031(3)	AM1	201(4)	CS51	01(4)	CS7	125(3)	EC2	001(3)	CS5	105(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6133/14	VIKASH KUMAR SINGH	U	С	20.0	С	15.0	С	15.0	С	20.0	F	0.0	C	15.0	С	15.0	С	15.0	135.0	31.0	4.35	
DE/0133/14	VIKASII KUWAK SINGII	L	С	20.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	155.0	31.0	4.33	-

MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS	CS6103(4)	: SYSTEM PROGRAMMING
CS6107(3)	: COMPUTER NETWORKS	<u>-</u>	:
CS8031(3)	: DATA MINING & DATA WAREHOUSING	-	:
AM1201(4)	: ENGINEERING MECHANICS	-	:
CS5101(4)	: FORMAL LANGUAGE & AUTOMATA THEORY	-	:
CS7125(3)	: OBJECT ORIENTED ANALYSIS AND DESIGN	<u>-</u>	:
EC2001(3)	: PRINCIPLES OF ELECTRONICS ENGINEERING	-	:
CS5105(3)	: SOFT COMPUTING	-	

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time. Disclaimer

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EC-NONCOLLEGIATE / (MO/20)/ 2019-2020

By the order of Examination committee, the following is the result of BE-EC - NONCOLLEGIATE Semester held in the month of OCT-2020

Date :

	SESSION	: 2019-2020 CLASS : BE-EC			BRA	NCH : E	NGINEER	ING					SE	EMESTER	/ TRIM	ESTER :	NONC	COLLEGIA	ATE		MONTH O	FEXAM :	OCT-2020
	ROLL NO	NAME	U L	EE42	207(4)	EC42	07(3)	MA1	201(4)				-	-		-			-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
				GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
	BE/6153/13	VIBHU ABHISHEK	U	С	20.0	F	0.0	С	20.0	-	-	-	-	-	-	-	-	-	-	40.0	11.0	3.64	
L	BE/0133/13	VIBITO ABITISTIER	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	40.0	11.0	3.04	

EE4207(4) EC4207(3) MA1201(4) DIGITAL SIGNAL PROCESSING ELECTROMAGNETIC THEORY ENGINEERING MATHEMATICS

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EC-NONCOLLEGIATE / MO/20 / 2019-2020

By the order of Examination committee, the following is the result of BE-EC - NONCOLLEGIATE Semester held in the month of OCT-2020

Date :

SESSION	: 2019-2020 CLASS	: BE-EC		BF	RANCH	: ENGINE	ERING					SEME	STER / T	RIMESTER	. : NO	NCOLLE	GIATE			MONTH OF	EXAM : O	CT-2020
ROLL NO	NAME	U L	EC4	203(4)	EC6	203(3)	CS23	-	EC4	205(3)	MSH	1131(3)	ME2	-	-				TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6195/14	Sajjan kumar	U	С	20.0	С	15.0	С	20.0	С	15.0	С	15.0	С	15.0	-	-	-	-	100.0	20.0	5.00	
DE/0193/14	Sajjan Kumai	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	100.0	20.0	5.00	

EC4203(4)	: ANALOG COMMUNICATION SYSTEM	-	:
EC6203(3)	: FIBER OPTICS COMMUNICATION SYSTEM	-	:
CS2301(4)	: FUNDAMENTALS OF DATA STRUCTURE	-	:
EC4205(3)	: MICROPROCESSOR AND MICROCONTROLLER	-	:
MSH1131(3)	: PRINCIPLES OF MANAGEMENT	-	:
ME2001(3)	: PRINCIPLES OF MECHANICAL ENGINEERING	-	:
-	:	-	:

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time. Disclaimer

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EE-NONCOLLEGIATE / (MO/20)/ 2019-2020

By the order of Examination committee, the following is the result of BE-EE - NONCOLLEGIATE Semester held in the month of OCT-2020

Date :

SESSION	N : 2019-2020	CLASS : BE-EE		BRAN	ICH : I	ENGINEER	ING					SE	MESTER	/ TRIMES	TER :	NONCOLI	LEGIATE			MONTH OF I	EXAM : O	CT-2020
ROLL NO	NAME	U L		4207(4) I1131(3)		209(4)		203(3)		217(3)		401(3)	PE60	009(3)		201(4)		001(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6031/13	ROHIT KUMAR	U	С	20.0	_	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0	4.0	5.00	_
BE/0031/13	KOIII KOWAK	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0	4.0	3.00	_
BE/6064/13	Aakash Lall	U	-	-	C	20.0	С	15.0	-	-	-	-	-	-	-	-	-	-	35.0	7.0	5.00	
BE/0004/13	Aakasii Laii	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	33.0	7.0	3.00	-
BE/6268/13	Pallav Kumar	U	-	-	-	-	-	-	С	15.0	С	15.0	С	15.0	С	20.0	С	15.0	95.0	19.0	5.00	
BE/0200/13	Fanav Kumai	L	С	15.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	93.0	19.0	3.00	-

EE4207(4)	: DIGITAL SIGNAL PROCESSING	MSH1131(3)	: PRINCIPLES OF MANAGEMENT	
EE4209(4)	: ENGINEERING ELECTROMAGNETICS	-	:	
EE6203(3)	: POWER SYSTEM - II	-	:	$\bigcirc$ $\bigwedge$
EE8217(3)	: EHV POWER TRANSMISSION	-	:	tawary.
CH1401(3)	: ENGINEERING CHEMISTRY	-	:	
PE6009(3)	: ENGINEERING ECONOMY	-	:	Controller of Examination
PH1201(4)	: PHYSICS	-	:	
EC2001(3)	: PRINCIPLES OF ELECTRONICS ENGINEERING	=		

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

Disclaimer

Disclaimer

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EE-NONCOLLEGIATE / MO/20 / 2019-2020

By the order of Examination committee, the following is the result of BE-EE - NONCOLLEGIATE Semester held in the month of OCT-2020

Date :

SESSION	N : 2019-2020	CLASS : BE-EE		BR.	ANCH :	ENGINEE	ERING					SE	MESTER .	TRIMEST	TER :	NONCOLL	EGIATE			MONTH OF E	XAM : O	CT-2020
ROLL NO	NAME	U		203(3) 201(4)		201(3) 207(4)		207(3) 401(3)		1201(4) 2201(4)		205(4) 205(4)		201(4) 205(4)		207(3) 211(3)		001(3) 001(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6039/14	GOVINDA HANSDA	U	С	15.0	С	15.0	-	-	-	-	-	-	-	-	-	-	-	-	30.0	6.0	5.00	_
BE/0039/14	GOVINDA HANSDA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	30.0	0.0	3.00	-
BE/6040/14	ROSHAN KUJUR	U	-	-	-	-	С	15.0	С	20.0	С	20.0	С	20.0	F	0.0	С	15.0	90.0	21.0	4.29	_
BE/0040/14	ROSHAN KOJUK	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	90.0	21.0	4.29	-
BE/6047/14	PANKAJ EKKA	U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0	4.0	5.00	_
BE/0047/14	I AIVKAJ EKKA	L	С	20.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0	4.0	3.00	_
BE/6143/14	ROHAN CHOUDHARY	U	-	-	-	-	-	-	C	20.0	C	20.0	С	20.0	-	-	С	15.0	130.0	26.0	5.00	
BE/0143/14	ROHAN CHOUDHAR I	L	С	20.0	С	20.0	С	15.0	-	-	-	-	-	-	-	-	-	-	130.0	20.0	3.00	-
BE/6204/14	DEOKANT JUGNOO	U	-	-	-	-	-	-	-	-	С	20.0	С	20.0	-	-	-	-	100.0	20.0	5.00	
DE/0204/14	DEORANT JUGNOU	L	-	-	-	-	-	-	С	20.0	С	20.0	С	20.0	-	-	-	-	100.0	20.0	3.00	-
BE/6211/14	ANUKEERTI NIWASAN	U	-	-	С	15.0	-	-	С	20.0	-	-	С	20.0	-	-	-	-	85.0	17.0	5.00	
DE/0211/14	ANUKEERIINIWASAN	L	-	-	-	-	-	-	-	-	-	-	-	-	С	15.0	С	15.0	65.0	17.0	3.00	-

EE4203(3)	: ELECTRICAL MACHINE I	MA1201(4)	: ENGINEERING MATHEMATICS
EE4201(3)	: ELECTRICAL MEASUREMENT & INSTRUMENTATION	EE4207(4)	: DIGITAL SIGNAL PROCESSING
EE3207(3)	: ELECTRICAL ENERGY GENERATION & CONTROL	CH1401(3)	: ENGINEERING CHEMISTRY
AM1201(4)	: ENGINEERING MECHANICS	MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS
EE3205(4)	: NETWORK THEORY	EE6205(4)	: INDUSTRIAL DRIVES & CONTROL
PH1201(4)	: PHYSICS	EE5205(4)	: POWER ELECTRONICS
EE5207(3)	: POWER SYSTEM – I	EE7211(3)	: COMPUTER AIDED POWER SYSTEM ANALYSIS
EC2001(3)	: PRINCIPLES OF ELECTRONICS ENGINEERING	ME2001(3)	PRINCIPLES OF MECHANICAL ENGINEERING
			Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EE-NONCOLLEGIATE / MO/20 / 2019-2020

By the order of Examination committee, the following is the result of BE-EE - NONCOLLEGIATE Semester held in the month of OCT-2020

Date :

	SESSION	: 2019-2020 CLASS : BE-EE			BRA	NCH : E	ENGINEERIN	IG					SE	MESTER	. / TRIM	ESTER :	NONC	COLLEG	IATE		MONTH O	F EXAM :	OCT-2020
	ROLL NO	NAME	U L	EE42	209(4)	MA1	201(4)	EE52	05(4)	-		-			-		-		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
				GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
	BE/6214/14	Shivam Saurav	U	С	20.0	С	20.0	F	0.0	-	-	-	-	-	-	-	-	-	-	40.0	12.0	3.33	
L	DE/0214/14	Silivani Saurav	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	10.0	12.0	3.33	_

EE4209(4)	: ENGINEERING ELECTROMAGNETICS	-	:
MA1201(4)	: ENGINEERING MATHEMATICS	-	:
EE5205(4)	: POWER ELECTRONICS	-	:
-	:	-	:
-	:	-	:
-	:	-	:
-	:	-	:
_	·	_	

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time. Disclaimer

PE5001(3)

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-MECH-NONCOLLEGIATE / (MO/20) / 2019-2020

By the order of Examination committee, the following is the result of BE-MECH - NONCOLLEGIATE Semester held in the month of OCT-2020

Date :

SESSION	N : 2019-2020 CLASS :	BE-MECH			BRANC	H : ENGI	NEERING					S	EMESTE	R / TRIME	STER :	NONCOL	LEGIATE			MONTH OF	EXAM : 0	OCT-2020
ROLL NO	NAME	U L		1201(4) 7327(3)		001(3)		201(4) 001(3)		001(3) 003(3)		005(3)	PE6	009(3)	ME50		PE5	001(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6076/13	Akshay lakra	U	C	20.0	С	15.0	-	-	-	-	-	-	-	-	-	-	-	-	35.0	7.0	5.00	
BE/00/0/13	Aksilay lakta	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	33.0	7.0	3.00	_
BE/6083/13	ARVIND KUMAR RAM	U	-	-	-	-	С	20.0	С	15.0	С	15.0	С	15.0	F	0.0	С	15.0	130.0	30.0	4.33	
BE/0003/13	ARVIND KUMAR KAM	L	С	15.0	С	20.0	С	15.0	-	-	-	-	-	-	-	-	-	-	130.0	30.0	4.33	-
BE/6206/13	RAJAT SHIVAM	U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	С	15.0	35.0	7.0	5.00	
BE/6206/13	RAJAT SHIVANI	L	-	-	С	20.0	-	-	-	-	-	-	-	-	-	-	-	-	33.0	7.0	3.00	-
DE/(2/2/12	AUNTH CON VAIDAN	U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0	6.0	5.00	
BE/6262/13	MUKUL SOY MURUM	L	С	15.0	-	-	-	-	С	15.0	-	-	-	-	-	-	-	-	30.0	6.0	5.00	-

AM1201(4) PE3001(3) MA2201(4) ENGINEERING MECHANICS METALLURGY ADVANCED ENGINEERING MATHEMATICS ME7327(3) ME4003(4) MECHANICAL VIBRATION MECHANICS OF MATERIALS PRINCIPLES OF MECHANICAL ENGINEERING ME2001(3) AUVANCED ENGINEERING MA THEMATICS
AUTOMOBILE ENGINEERING
COMPETITIVE MANUFACTURING STRATEGIES
ENGINEERING ECONOMY
KINEMATICS & KINETICS OF MACHINES
MANUFACTURING PROCESS - II ME6001(3) ME3003(3) FLUID MECHANICS AND HYDRAULICS PE7005(3) PE6009(3) ME5003(4)

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time. Disclaimer

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-MECH-NONCOLLEGIATE / MO/20/ 2019-2020

By the order of Examination committee, the following is the result of BE-MECH - NONCOLLEGIATE Semester held in the month of OCT-2020

Date :

SESSION : 2019-2020		CLASS : BE-MECH	BRANCH : ENGINEERING				SEMESTER / TRIMESTER : NONCOLLEGIATE											MONTH OF EXAM : OCT-2020				
ROLL NO	NAME	U	ME4003(4) EC2001(3)		ME6007(3) MA2201(4)		CH1401(3) ME6001(3)		MA1201(4) ME3003(3)		AM1201(4) PE3001(3)		CS2301(4) ME2001(3)		ME7327(3) ME7033(3)		EE2201(4) ME3001(3)		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GF	R. PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.		<u>.                                    </u>		
BE/6025/14	NITISH KUMAR GOND	U	С	20.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0	4.0	5.00	-
	NITISH KUWAK GOND	L	_		-	-	-	-	-	-	-	-	-	-	-	-	-	-				
BE/6107/14	Rohit Anand	U	F	0.0	F	0.0	F	0.0	F	0.0	F	0.0	F	0.0	F	0.0	F	0.0	00.0	32.0	0.00	-
	Roint Anand	L	F	0.0	-	-	-	-	-	-	_	-	-	-	-	-	-	-				
BE/6173/14	ROBIN RANJAN	U	-		-	-	-	-	-	-	С	20.0	-	-	-	-	С	20.0	150.0	30.0	5.00	-
	RODIN KANJAN	L	-	.   -	С	20.0	С	15.0	С	15.0	С	15.0	С	15.0	С	15.0	С	15.0				

ME4003(4) ME6007(3) CH1401(3) MA1201(4) MECHANICS OF MATERIALS DESIGN OF MECHANICAL SYSTEM ENGINEERING CHEMISTRY ENGINEERING MATHEMATICS PRINCIPLES OF ELECTRONICS ENGINEERING ADVANCED ENGINEERING MATHEMATICS AUTOMOBILE ENGINEERING FLUID MECHANICS AND HYDRAULICS EC2001(3) MA2201(4) ME6001(3) ME3003(3) METALLURGY
PRINCIPLES OF MECHANICAL ENGINEERING
POWER PLANT ENGINEERING
THERMODYNAMICS AM1201(4) CS2301(4) ENGINEERING MECHANICS
FUNDAMENTALS OF DATA STRUCTURE PE3001(3) ME2001(3) ME7327(3) EE2201(4) MECHANICAL VIBRATION PRINCIPLES OF ELECTRICAL ENGINEERING ME7033(3) ME3001(3)

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.